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30 97622 Onrlp A4 TI II urnr rfr 2500 36 90,00

30 97230 Orpuqtuhu\ IIII hurr.n 450 6 2,70

30 97234 Oqptuqtuhur\ \"2* \tuqrin{ IIII hr.ur.n 900 5 4,50

30 97232 O1puqruhur\ upuqr.u\urp utr huln r00 30 3,00

30 9751t .{umriutr trtt huur 200 10 2,00

30 97231 Or1 puupuhru \, rqn 1|r tth piu3frL, pu qru tr p Q,ult TIII urnr.{r I 200 5 6,00

39263200 QpruuL;h1ur\urlhL qhnp It' \ huur 500 2 1,00

301 92230 tJ\n2_ rtLb II I huu 350 6 2,10

30 92230 iJ\n; frnpp II I hurur 50 6 0,30

30 97112 trurpfrjr ilhrntury-u1tupt \uqLp r[npp tI I untrfr 00 t0 1,00

30 92t28 apf2 qtlur3frh tI II huu 50 20 3,00

30 92121 qfh> .llrtf'\*,lrn II II hutn 50 ,14) 5,40

39263420 lhipu[, tibuluryur r.I t_t rnnr-rlr 50 8 1,20

301 97r 20 ttndqurilhhp, qluruurr.iruuh qfufr\n{ UII unulr 50 8 1,20

39263520 lJl;qrtru\ .thpht, TIII hu:tn 50 l0 0,50

39263530 LJLrlttur\ rlhb II I huru 70 r0 0,70

30r 92 I 25 ULup\bp II I huru 280 10 2,80

3582 1 400 ']r.2 tI I Irurr-rr 7000 2 I4,00
37821 50 (tLu{frd TI I \q 1000 28 28,00

30192 33 lJpfry tIII hutn 200 2 0,40

301 92 4 O'r-uLurp, \t hph pup,\hqh hudup LI J, hutn 300 4 1,20

301 92 1 OruLLupf pupAir\ tI ). hutn 400 I 0,40

392925r0 €rutrnL tI J, hrutn 250 2 0,50

30r 92 0 lJnuhd,urdur tnf u, qp ru u bhlu \u1frL LI \ htuur 250 l0 )qo
30r 99420 Olrr qp tr2nr dtrLpfr hunfi.up, unuhd.rlruqpn{ UU hurur 300 16 4,80

39241210 U\purur, qpuutrhpu\tu1frh TIII hunn 250 4 1,00

30192740 QnrLtu{np pnlrlp U{.I urr-rr-rlr 3000 I 3,00

30 1 99238 0purp II II hu.rm 20 t0 0,20

22800000 t-l,2ur\hp u fr rq ur I rftutnuqfr p tI tl hurtn r50 70 10,50

221 I 1 103 ')qpn gr.u \tu L pru nupruh II iI hurtn I 200 5 6,00

22800000 ')uutulunr-tfhhp I tlururj urh t_r t_t htuur 2000 2 4,00

22800000 flr.unr.g2|r prug pnrpub dutlhpfr ilruuluh IIII hurtn 800 l 0,80

22800000 tl2furu ur nlLr Lpf h pu r.[u trur qfr pp IIII huru 2000 I 2,00

22800000 Zr-u r-l ruutn urqfrp 4r1tu r:. TIII huu 100 30 3,00



22800000 llnurgf h 4u.ru.urdlr plrnr puqplr2 TIII lr tu ln 500 29 r 4,50

39263200 rlruhLurnI qfrpp II1t hurrn 600 i 0,60
39263201 lJh trqrutfpLpp]r 2pptu hrunn tp1 urL qp u hor"u rIu tItl hurur 2000 l 2,00

39263320 Oprugnrlo uhqurtrlr iIu huu 600 2 1,20

30197236 'flurnrlnglrp tItJ, hurm r00 )n 2,00

37521 1 40 q urp qru ghnrl purptn h1.r [.f tI hrutn 650 10 6,50

3752r190 h fr 2 n q n r p1 n r trp q u,r p qurqclgh n 11 [u r"r.r r1 L 1r IIIJ, hrur"n 700 6 4.20

37 421 100 rhup ill-mr durp qnr pSr-uh qnpq Ir1], hurm 7200 l 7,20

30195900 ilup\LpLu3[rL qpuururfuuru! /90. I 20/ utt hr.uur 30000 ') 60,00
30197621 On qp $filq 1u p ur q1-ru unu lriu u\|r htur.f urp IIII hurrn 2200 1 2,20

39221430 Uup!hpu3|rh qptuuuluuru\fr 2tr2ng [.f t1 huru-r 300 3 0,90

37521 1 40 bp\p ru2u {r ur \urLr q urulltptrtp lrtl \nilq r 800 I 1,80

37521 190 Upu\ hu2tllry IIII hurm I 500 1 1,50

37521 1 40 tlrurlurL pnrpq t.f tr huru 2400 I 2,40

37521 120 Zbplrurprulfrb {rurq1 UII hurm 850 ') 1,70

22t 1 I 100 Zhpf tup qf pp /qnr Lu{npf p 2pntl/ TIII hr.uln 1700 3 5,10

30t 95900 U'tup\ Lpul|rh gp tu utuiunur\ tlrnl:p tI t1 hurtn 1 300 r,30
3752 120 clrru1mt {rruq1 rlLrlpf iltuuLp IIII hurtn 950 0,95

3752 120 <lruJr.nL-{rurqL rl.:nh [tL4utrf tr tp UTI hutn I 950 1,95

3752 120 tl)tuJur L n runr.clnrlur\rutr opruonrlo I.IIJ, hrum r 950 1,95

3 /)t r20 OruJ u h-rtrruql riuuh tuqf tnnrp3 nrtrhtp utr Irr.um 950 0,95

3752 r20 (rru1u h-tlrur q1 2u3ruuururhfr dr.upqtpp IIII htuu 950 0,95

3752 120 <l>u1rn t -tlru q1 pupL\ur iltr trp utl hutn I 950 1,95

3752 t21 Uup\Lp IIII huu 300 5 1,50

335.00

3r 685000 bpllr"upugr.[ui, t,*p / bphp rnhrlurhnq 5 L[/ tJ.II l-rutn 2s00 3 7,50

3153r210 I:1. I-unitq l00W UII hurtn r00 5 0,50

39837000 Ll{11 pur\}, UII hrum 700 14 9,80

39836000 l1{L1 trnLlnpurllurL TIII huur r 200 9 10,80

39839200 Qnqrupfrutl TIII hutn 550 3 1,65

3983r 283 Zuruu.r\f ilupptiruL 1up UII l-rruu I 200 20 24,00

39224340 ,111-.tup\q UII hurtn I 200 3 3,60

39831 24s Zhqnr\ odtun / 51/ IIII hutn 1 500 8 r 2,00

39Bl 300 2nrnruqt pblrl IIII huu ur 600 5 3,00

3983 240 Uuppnrl lrjnr php/r[rn2ir/ LJII huru 420 20 8,40

3922 480 .9nr qurptuLrfr iunqurhur\ U(I l-rurr"n I 300 3 3,90

J.r/o t00 .9nr gupuhlr lanr \fd l]lr hruur 120 r50 18,00

3983 240 Zururur\p rftuppnq lqnr lalp UII htutn 800 50 40,00

3983 280 IIulu\fr r,[uppIil nr r-fhpnq trtl hurrn 600 l0 6,00

3983 28r llqur\f riruppilurL lurp iItI hurr.n 450 12 5,40

3983 274 Zurilru\urpqfr2 Lfruppblnr hhr1nr,L1 [III hruur I 500 3 4,50

39224333 'Inr.11 dLuurrlru UII hutn I 700 3 5,10

39224331 'Inr-31 qpuurnttuuh /1 21l I[I hr-uur 700 3 2,10

1 842 r30 tLnhngLtp tnLtnbu u \ru1-r IlI qnl Jq 360 30 10,80

3983 114 I..1* gph rlrn2f/a50qp/ III hnrur 450 12 5,40

3893 200 lJl.;tr.1ur\u1frL g[;pLIu;ut]r I t.t
'h 

ur ur 250 15 3,75

4441 110 Apf bnpu\ III l-rtur.n 2700 2 5,40

4452 121 ')nruir rlnu\tubfr rifr2nr \ III hrur"n 2200 2 4,40

4452 101 br[pnrqur \ruh q tuurnrJrru b lr pnhur \L bp III hurur s00 5 2,50

4452 100 L;rlp nrquLluLr rlntr hpf pnhru!LrLp IIJ, h tu r,n 3000 5 15,00

4451 ll0 f:rLrh tqnln{ III hurur 2500 2 5,00

4451 t70 rlhglu tI tl htuur 2s00 I 2,50

39835000 2tuurur!lr r.h*J* tITI hutn 1 300 3 3,90

444117 42 9nr qupuhur!"t Bh ilLluuILfr[u\tutr tfrtu\urL i._ftI huru 4000 6 24,00



091 32200 pb0q[0, nbqnLllup t_rtI tJ,*p 400 J 1,20

37 451640 U\rurlrunur\ urlng UII huru 3500 1 3,50

09211100 3nrq hp!nr uu\ur/11/ UTI thurn 3000 1 3,00

19440000 ohrqkp. UU hruur 750 8 6,00

3t22t200 pur qilunlurp4u\ h{ru Lhqnq uu hurur 800 4 3,20

31531610 abru3[rL lnruruunt 18W uu hurur 1 200 6 7,20

331 41 1 18 UbdhnnqhL )np 'uu r.nnulr 300 20 6,00

279,00

44163i30 r{n3nrr1nr funrln{ur\ <D40 IIII tfhup 750 30 22,50

42131120 9n,;ntqnr. |unlnqru qh lgutluu lrp L_ftI hurur 450 20 9,00

44112730 u\ urr.[r.unru \ rIt rnnulquhuln LIIl htuur I 300 2 2,60

301 92200 1uu]rhpfrq 7,5 ti UU hr.utn '2000
1 2,00

39240000 q hp$hpruurnplr 2tu 1u rlr TIII huu 9500 1 9,50

42671 400 [uuilnr-p UTI huru 350 l0 3,50

42r31100 ppfr {rtuLlurLr IIII hurtn r 500 3 4,50

43611230 'l'fl [f \gruJruutip LI 11 hutn 150 30 4,50

44r 60000 r.[Lu urq uq 
1 
uuu l.r \ cunituuhp UU hruur 3100 4 12.40

70,5

2431 1170 Zul]urprubnr 3.2'<l u lnqbLL b n > TIII hurr.n 5500 1 5500

2432)860
2u{urpubnl 3. 1 4 nUqnrnru[ub ppnr.,

uqnr.ntu\urL pprlh uqtp, uilnL irur\,
LIIl

hurur
7500 I 7500

24r 1 1 180 Zullrupubnr- 4.3 "fdp{ruEfrb , UU hurtn 4600 1 4600

241 I I 190
2.unlrupubnt 3.2 1 "UbfuruEfrtr, rubfu urppnr,
ublurubtrfr qhnpuhl,

TIII
hurur

6r 00 1 6r 00

33691167
Zurr.ltupurbnr 3.B "Obnr r.lp, unL.1$luruL Lp,

unrl$f r1LLp,
tr tl

hurur
4600 1 4600

24311420 Zur{.rupurbnr- 4.10 n bn\*p, LII], hurur 4000 1 4000

24321170 2ru{urpurbnr 9.2 .U1lfLhhp uohtn}r1hh, tIII
hr"utrt

BBOO I 8800

24311260 2ur{urprubnl I . 1 2 "ZruJtnuh3nrpbp,
uu hurur 7800 I 7800

48.9

395 1 5420 Q1 ru tnu 3frL 2hprnru r] rupur qnLJ p UU {2 9000 11,7 10s,30

30195900 tlup\bpujfrh qpurr.nurlurntu\ /90- 1 20/ IIII 'huu
30000 1 30,00

301 95900 drup\tp ulfrh qpurrnulutnu:\ i90. I 50/ trlL hurtn 32000 l 32,00

1841 1900 o1.r\u\u1 tru hurur 2000 r6 32,00

37461340 ilrrutirirnr2ur tI t1 tn n r,{r I 500 20 30,00

395r5100 .{uprugnl1p 2rlup2 UU ilhtnp 3000 15 45,00

39515100/1 .{tupuqntlp r1t\npuurfr{ TIII tlhtnn 4700 15 70,50

221 1 r 150 Qpur\urh purprnhq UU hurur ss000 1 55,00

399,80

444 740 tluf rullurL qnr qtupurhurLlnhp TIlI h u.r ur 1 6000 4 64,00

42131 490 lluf uLlurL ufr$nll t,|lt hurur 4000 I 4,00

4441 1750 llufru\utr putntl IJII hr.ur.n 6000 4 24,00

444117 42 llulrtu\uh Fu:n lth tthfuurhfrqri IIII huur 3500 1 3,50

4451t343 aul1lr\nlr tIu hunn 400 2 0,80

39132220 ar;p[ \ufufr2 IIII l.ruru r 700 4 6,80

3935 1 100 Snruq t-rLpd nrrlfrl TIII huru-r 280 10 2,80

42131170 <l>ur\uh tIt_t hutn 2500 4 10,00

441 12760 r{lprr h }r,rnqnilru[1 LI II hrur.n 2500 4 r 0,00

24911200 lJnuf tr& TIII hutn 1 500 I 1,50

44112766 Qruglr urh\jnrLtutl trtl hunn 300 2 0,60

44171100 Ilul|r\ tllt ,J2 4200 7 29,40



24911900 U nuf hd uurlf ilf I 25\<11 uu h tu r"rr 21 00 2 4,20

157,40

31 21 1 100 ,Ilpntr\urnpfr Illectronic I.,azer Pen Pointer L.f u h tr.r ui 7500 1 7,50

30237260
U'ti u-rurrltu \ ru Lr ur tlp tu ! ur1 l"rL h ur p r[ rr-r ;r u hp

tqpn1h!tnnpf hrurlurp
rJu hurur 22500 1 22.50

30237411 UqLhq Logitech Mouse M90 t-ru huru :1800 2 7,60

Jl.)4 110 Irup&prufunu Ltt\ [putrnr-il / qnrlgn{ t_ru h u.r ur 25500 I 25,50

3257 s00 U'u1nr fu iIDMI /1Oti/ tu hr.uur I 3000 1 13,00

391 1 280 U2ur! Lprnruh urh r.upnn dLuturl lruh t.f u huur 7500 32 240,00

391 1 i280/1 U2ur\t puru\uh rupnrr rlhurtuq;urh t_tu ]rulur 6500 28 182,00

39121 100 U2u\hprnu[urh uhrluh h[tihtu\urh t.f u huir.n 17500 16 280,00

39121100/1 U2ru\hptnur\urh uhrltuh ururppur\tutr L,|U huu 17000 14 238,00

3929'.2600 Ut[p]'rnh ZZ q]rhurh2tuhnrl tru htuur 50000 l s0,00

3252 1 1 00 U'urlnr lu tIu ilLmp 200 250 50,00

1371,10

$ frL rutr u tu tln n duL ru qp1 n Ln E' ut1 I rth g n gL b p Jr h ru 2 t[frlr

tJLrnr Lrrl
15811100 h-g UU \q 32A 750 240,00

1581 1 100/1 hurg t_r'u \q 360 56'.) 202,32

15614200 rrp[L& l.,fu \c 650 120 78,00

15614200/1 trpfrL& UU Ltq 550 96 52,80

15851 100 U'u\urpnh tru \e 400 100 40,00

158s1 100/1 U'tu\urprrh I.TLI \q 400 80 32,00

1 561 6000 Ztr4\ur&tu{up UU \q 800 50 40,00

1 56 I 6000/1 Ztrr1\r.ud.ur{up UU \q 700 76,7 53,69

15421100 Fnruru\uL 3nu1 UU rhun 1 050 80 84,00

15421100/1 trnluur\urh 1nu1 rJu f,un 750 64 48,00

1 56 1 9000 Ztudurp rIlt \q 600 50 30,00

1 533 T\4 fllrrn rlLqfrh u'u Irq .5I:0 50 '27,50

1 s331 5411 Olnn r1h{rl-r UU \q 530 4'.) ')')')a

1 533 153 Or.rtq L.fu \q 880 50 44,00

I ).J.J I 53t1 Orrl riu \q 7qn 41 30,75

1 5?? 15i Ztuurfr\ lnpfr UU \q 1 280 50 64,00

15331 51/1 Zturnfr\ lnpfr Lfu ttq 850 38 32,30

1 554 200 ,liurhhl t.fu !q 2450 60 t47,00

1554t200/1 rlLuhhf Lru \q 2200 72 158,40

15 I 12150 Zurt{}r \pbprutifru Lfu \q 2400 100 240,00

1511215011 Zrut|}r \pbpurtifru uu \q 2200 80 176,00

1 s333 1 00 Sntitur.nfr durbnrtl rJu \q 990 16 15,84

1 s83 1 000 Curptuptu{uq ttLt \q 420 48 ?-0,16

15872400 u11 UU ttq 160 20 3,20

15872400t1 U4 uLt \c 160 13 2,08

0:l142510 Zrurllr dnr UU htutn 2000 146,00

03142510t1 ZurLifr dnr- UU hr,utn 65 t493 97.05

1531 1 100 ttruptnn$fr1 t_l t_I \q ?_90 230 66.70

1s31 1 100/r ttu:ptnn$|r1 r.Iu \q 240 153 36.72

03221410 \ruqrur.ip t.f u \q 250 200 50,00

03'2214 0/1 rrurrlurdp UU \e 230 202 46,46

03221 1t) Qurqrup LIU \q 350 50 17,50

032211 0/1 Qurqrup uu \q 350 58 20,30

03221 0c) tturptlfrp dur\tr4h11 t.ru \q 350 50 17,50

03221 100/l ttuprlfrp du\h4t11 t.f tl \q 350 41 14,35

03222128 tuh&nF tfu \q 350 381 133,3s

03222\'.28/1 tuhdnp t-fu \q 350 399 139,6s



1 555 I 600 Uurbnr-h \q 670 25 16,75

15871256 ttu pilfrp rurpuourb ulrlul hrt UII hq 4000 1,3 5,20

2691,83

ouftu3nr.rd3 lhLLbr
65310000 I;1 L! mptu\urLn r plurh 1-.tu2funr il TIII qpurtl 400000 1 400,00

65210000 Qurqf pur2]unr t[ Litr lptuti 3000000 I 3000,00

651 10000 -Qpfr ptu2]unrr.i L/lJ, r1puil 1 78000 l 178,00

9092 l I 00

llluurr.uhtuhr.{tuh tr titu\tupnr-lbtrtpfr
n2ptr2ugriruh Eurn/rlhnuunfrqugfnu/

L]II tut[fru 3500 12 42,00

90511 100 IIrlp tu hur I-rnr-p1 n r-tr TIII urif u 5400 12 64,80

72400000 frL urhpL Lur burnulnr-p3nr-h IIII urlfru 8000 1') 96,00

45251170
QhnnrqliurL hruilur\rupqlr uqtuuurp\ rftul:

burnr.utnlBtnr-hhtin
uU. 11puril 97000 1 97,00

7998 r r 00 Qnpbp urilutuqplr pudr.ul-r np4urqpntri TIII l-rurr.n 9300 12 111,60

797 1 1110

Qruqlr bluLu oqu rnuphbp fr utn nr-qiluh
bunru3nrplnr-hLLp

UTI r1p tu t[ 80000 1 80,00

851 1 1 100 Fn rd.clLhilurh brunurl nrplnrtrhhp utI huru 40000 1 40,00

5031 I I 20 €tup ppfrpfr fropu {npn r-r.i UrI hr-uu 2500 16 40,00

503r i r 20 €u pppfrpfr pilpnr\f tfrnlutu p frtrnr il IITI 'hurur
2000 6 r 2,00

5031 i r 20

')1nr pur\|rp hur Ju \ur p q2fr purp d.pru p u [u n ufr

r{bptutrnpnqnril
LIIJ, hlun r 2000 I I2,00

51610000
Zurilur\rupq*r \"2- ullurlurnur\|r
thnluurnhLntr.f

TIII hutn 22000 1 22,00

5031 I I 20 I-nr-uru gp[r2[r $n 2h tiuppnrtl UII hurtn s000 l 5,00

5031 I I 20 uulnrl rluppfr r,lLpurLnpnqnr il LIIJ, huru 1 3000 l 13,00

1t)41t2t0 aLnrrihhp[ hhrn \ruul{rub t]lI qnuril 260000 1 260,00

72261160 ZO' hur2r[.bpuqpfr unupb[urh uquruurp\nui TIII 4ntuil 95000 l 95,00

791321 (X) L1. uurnpruqnpnlplruh uupuu. r.ldurp UII 4nuril 3000 1 3,00
55521700 fu uhr.u ptupur\ u h bru nu1 nrp3nr hhbp uu 4nrxil 104000 9 936,00

7963 1 200
?tu rlrn pn 22tu1 f L r] Lp urq uurp uu urilu h

bur nu.r1n r.p,; n r-Lrh trp
LI II |unrtip 60000 l6 960,00

79631200
U2fu tu rnu \|rgl, tph rlLpr.uqrurn puruurdub
bunr.ulnr,plnr-h

utI +luli 2400c J 72,00

924200(X)

Ohppnr,r.f hu:,;tnurpupnrpjnr-trL trpf
rnqurqpJruh burnur.1 nlp3nr-h

II II lpruti 600c 5 30,00

451 3 0000 3u3 mruq p3 nrplr rn Lrlu4pnr-il IIII rlluil 8200c I 82,00

5031 I 120

Shu u&urjtrurqlhft, {hnurhnpnqr.iurh
bunulnr-B1nrh

III]. rlnruil 20000 1 20,00

506r r200

ttpru \iltupfrfh rlbp*thSprurlnpr.luh
brunur3nrplnrt:

UII 4f uil 8000 8 64,00

50800000
.{Lpurtrnpnqtlur [r L q urhqtu Ltlu L

tnunutnr-tatnlh
IIII rllud 64000 1 64,00

50761 100
9.nr-qurpuhhhplr { hpurhnpnqr.iurh

Enniutnr-rarnrh
UII +lturi 260000 1 260,00

7963 1 300

')ruuurlunnltrhp fr rifr2ngnrl nrunr-gfr2bhpfr

\up [phtpfr qLruhururnrdhbpfr

fun ph pry.urn{nr p1n r tr

tltt qlurl 3s000 1 3s,00

79631200t1

2u-rtlrnpn 2;tu3f tr { hpuqruurpururnrlurh
burnur3nr-p3nrhhhp

TIII +luLt 28000 I 28,00

7122,40


